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1 which Psychologist described ¢’

and ‘S’ intelligence factor ?

(A) Binet

(B) Thorndike

(C) Cattell

Npearman.

2. Sheldon classified personality into

(D) four.

3.7 Anaverage IQ ofa person is :

N&go to 110 |

(B) 130 to 150 L
M 70 to 80
(D) 50to 60.
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5 Endocnne G‘rland secretes

CA SR S5t g TS (A) Blood

: Vo .':"'_ .. - . . R‘ = .' ..
(B) MTAT ¢ (B RN.A
©) =i _ : ' (C) Hormones

(D) DN.A.
(D) SrEATI .

6- aﬂ?f 3R 'q’*TI'{'UT REE k28 3?%21?17{ 6. Cause and effe(_;;: re]ati(.)hsh;;c%h:"_.
 oifaw w3 9 fear W% g e dqne more accuratélyby:'.._
(A)-wm ﬁﬁx i (A) Experimental method ;
(B) Triremn fafy : \(QJOBéewation mei';ll'-lqd _-'

(C) TeTwr fafy © (C) Interview method

(D) efaderT fafu S D) Intro'spectiénme'fhod{ ;
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Child writing down his own

% CUSERR IR ST D o) e — Y A
F IYEW L t,hollghts ig on example of :
(A faas (A) Thinking
(B) WEds afsr (B) Reflective Journals
e () Insight
) WH—T’?HI- D) Self-recognition.

When does Development start

=

fyerg H1 W H H OIE B |8
2?2 o ' from ?

Q) S ¥ (A) Birth
(B) Sedehiel ¥ (B) Childhood

e TEtue ® ~ (C) Conception
(D) JI’EI-TQT\i'€IT=I'~‘9951'I Esg ' (D) Adolescence.

9. qraetE 3 et van e W fwar? 9 Pavlov experimented on which ?

(A) faeeit ; (A) Cat
(B) =l _ (B) Dog
\CS’\W (C) Pigeon .
(D) F&! (D) Rat.
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0. wmifss sifirm 5 fogra faad | 10.  Who gave Social Learm‘n-g
Teqr? theory ?
(A) oifeEs (A) Thorndike
(B) sgu ! (B) Bandura
(©) wiger (C) Kohler.

) farp
\“L | (D) Skinner.

11. T
: Rt oy THEA Wy yfafesar 11. Excessive and Irrational fear

TR 85 reaction is called :
\(A{ﬁmr | (A) Anxiety
(B) =har xe (B) Frustration
(C) wiiarer : (C) Stress
(D) wifger (gfifa) (D) Phobia. ,
12.  O0@, ST g yw T % [ 12. Readiness, exercise and effect arel
g &) the laws of ................ : |
(A) p@ﬁ ' (A) Memory
(B) fawon S | (B) Forgetting
| \LQ_&’FW y (C) ‘Learning
(D) Ul | . (D) Remembering.
. N-2411-Series-B o ( 6)



\
i

RS B 3
g SR sy, N T 4
41 §?

(A) Wif®
(B) W

(C) ATH-GHEH

\(:»\amq |

14, S IES i EE A A iy

(A) TS
(B RUMcHh

(C) ¥y
M) 379 ¥ HE 7=

15, JHF-wER sE g e
¥ Fafem 22 '
(A) FTEeR
B Agu

f' (€) fa

| (D) g

N-2411-Series-B

(7)

13.

14.

15.

. .-‘-‘-,..;__-.‘,'v_

Which need has been placed ot the

top of hierarchy theory by Masloy, 7
(A) Physiological

(B) Love

(C) Self-esteem

(D) Self-actualization.

If previous learnt material creates
obstruction in new learning, thig

will be known as ................. transfer

' of learning.

(A) Positive
(B) Negative
(C). Zero

(D) None of these.

‘Operant Conditioning’ is

associated fo which i’sychologist ?
(A) Kohler

(B) Bandura

(C) Skinner

(D) Pavlov.
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i 17.  According to Freud, ‘Ego’ is based

: 18 : ‘Aﬁny?Béta;- Test’ is G l

;_‘c_?;-.Rorschacll ok Bt

' asSesqes .'_

(D) Socialmotives.

N(’Q{ Pleasure prmclple T
) Reai_ify Pmmﬂple

© el pibeile _:;.-'
i '(D)-All of the a‘bov*«_n’e_f.g..E e

fo e

(&) Verbal
(B) Noﬁ;ve__fball.

(C')‘—I; Perfo’r}_n‘ance: s
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- ig twelvey_ea_rs, calculate theIQ
(A),lso'_" | "
L) 100

020, : YSRUT TEH YfeRar B— Ty - 20 _Storage is a process of::

(A) g B Y i - (A) Intelligence
- B) Hfa ” = .. W ’(B'{.Mémory
(O sfueE | (© Aptitude

| (D) SR | ' - (D) Personality.

'. 21 ElE = Wiy Lo Tl 9 B 2 21.  Growthis related to:
- e .-.(A) A 5 g n | %Quantity
(B) qu I_: . ' (% (B) Quality

@m0 L (O) Personatity

D e e i e o

| 4o, Chronological age of a child j5 =

" gixteen years and his mental a'g'é P
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iA) i
(B) mbtipy

() sritepy
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24. ferelt wr gon fgny e etes 4

feg)

(A} ey
(B) v=
(C) B

(D) wdynys
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Wiha experimented on

According to Thorndike theo

as the tnal increases

{A) Increases

{B } Decreases

—

{C) Equals

(D Zero.

Span of attention 18 ...............

tA) Limited
LBl Unlimited

€y Infinite

) None of these,
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mcas ures S A _

: (A)_ Physical

: ?B{Cdg’nitive ' :

 (C) Social

(D) Adjustment.

Hunger, Thxrst and Oxygen

...........

type of motives are

(A) Psychoibgical'_

~ YR_Biological

(Cj Social

(D) Emotional.

27,

Carol Gilligan - 'associé_zféd 'With_ L

i pi*inciple of :

SRRV Character Development - .

(B) Social Development'

.._:(11). B

(©) Phym cal Development

\KMoral Development
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(C) 4™

(D) Ei

. Chﬂdhood ‘?

29.

30.

(12)

" (B)'dte 18 years e e
©) 12t018years '

: (D) Oto2y eérs, : ,. ‘. ..__ e _:_ _

%Shoﬂ Term Meiﬁorj

Whlch perzod of hfe 13 called

‘S.T.M.’ stands fopit 2 s L

(B) Sensory Term Memory .
(C) Schema Term Memory * . . |

(D) Stable Term Memory. - J

Jean Piaget divided Cogx-li‘ié;i‘x}é'_. :

development in .

(A) three




})wﬂtﬁﬁn Q No‘ 31 tu 34 Chioce
Se

ﬁm :nmwt nl’l’l"’prmm prepmxtm
Sitiop

| ...'-'E'mlt ﬁf ﬂ:;e gwen chmces :

1 There is & cow ...

el
e Lo

e (D) ‘None of theee'.. S .,

s e
S accomplishment.

(A) at

33 _' Everyone laughed sramnsmennse him

-2411-Series B

S tha

boasted. - i g his

N(-B;,ﬂt

(C) in

D N:dné of these."?

| 34. Ybur POIL 18 il vadbiad

R iﬁ

(©) at

- (D) None of these. i

-:iDlrectlon Q No. 35 :
';_correct change of gender from the

foptmn given :

35. ‘Land-Lord :

(A)._r___Lend—Loard
(B) Lend Lady

\«.K_Land Lady e

(D) None of these

Choose the

; _the teble:.

o L e e




'.---D:rectmn Q No*:. 36 tu 39

: _ (B)He W‘aé knownto me -

(C) He is known to ; me g
\GDQ\Tone of these. ! .

| 37. Wha is ca‘]liIllg. yOu 7 4
(A By whiorn 5?011" e .
‘.\-“B-)\By Whom are you bémgr called
-(C) By whom he is bemg called :

| (D) _None of thgse.-_ y

38. Rama helps Hari :
(A) Hari was helped by Rama -
(B) ‘Hari helped'-.b'y Rama“'

(C) HdI‘I W1Il be helped by Rama

é,

Ohuose;-'&r 39

ol
s -ﬂl& camct form of passwe vow L

fl‘ﬁm the :--g;v;_a;_i ; b_e}c_bw___.-_ % Vi 3 i

@ He IS known from me |

| 40,

il Al

Qurmne tastes uu nr

(A} Qumme
tasted

I“~ IJEHf 1% When

(Bl A qummv was better Whenij.

taste

“@Q\\Qumme is bltter to tdste

(D) None Of—f__;hese. :. . 34

_'Dlrectlon Q. Nos 40 to 43 : Choose

the c,orrect synonqu for the

words given in Capltal_. Ie_ttexfs :
FUNNY

- (A) Excited &
- “ﬁ){uinorous
. ((.J)I Serious, '
.(D) Obvious.
DISCIPLE
(A) -Helper —

Waster

§ (C) ‘Student

j :

\(BJ\_Han is helped by Rama

i ,i_-\,

N-2411-Serles-B P
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48 ADMIT

H\\im‘“nhh‘
(13) Exclude
() Deny

(D Send.

43. AWFUL
Neasan t
(B) Terrible
(C) Good

" (D) None of these.

Direction Q. Nos. 44 to¢ 46 : Choose

the correct article fromn: the given

option :

44 Heis s MAL
(A) the
@ an.
(C) a

(D) No article.

N-2411-Seriecs-B

(1

Kalidas 1 el Shakespeare

=
——
-

of ITndia :

(A) a

"\_“J
(B) the
(C) an

(D) None of these.

46. I. A Dog is ...ccc....... faithful animal,
(A) an,
(B) thé
e

(D) No article.

Direction Q. Nos. 47 to 50 : Choose
the correct form of indirect speech

from the given options :
47. He said to me, “Please go there”.
(A) He told to me please go there

(B) He ordered to me to go there

\(QLHE requested me to go there

(D) He request me to go there.

) P.T.O.




e B (B) He said that handsome

fnend” i

\@Q) You to]d me that he Was your-_-___ e L i
frlend 2 '- St -l (©) ;_H_e' said that handsome are

(B) You sald to me that he is ks

: __handsome does .
your frlend i g

(C) You told me that I was your ¢ (D) He sai'd. that _'handsoméﬁ'__is'

_ friend - _ & ¢ 7 _--that haﬁdsome'-does;" B
(D) None of these. : i ' e A
| ' Direction Q. Nos. 51 to 54 : Choose
49. He said, “I did it”. ; g ; o ol
22 the word which is opposite in
(A) He told.that he has done : B ] e

it : _ i méaﬁing to the words 'p_rinted_'ixi__
(B) He .sz;id that he had done " CAPITAL 3

it

—(C) He told that he did it

(D) Nore of these. ] Ty Good will

51. MALICE

i : _ ’ .l;an:déomé'doeS” = _' " ; B :
f’__ et i as b pisa it 2l xgt el o] -(C) Rude

__:_:We told that handsome s,

= ':- that handsome does e g (D) _Spite.

o N...2411-—SemesB - | - ¢, ._ ( 16 Y '




B, CRUEL
..:\\“\q -
(& Savag
(B) Wicked

(C) Popular

(D) Kind.

54. CAPTIVITY

(A) Freedom

\(‘B)\,Custody

(C) Detention

(D) None of these.

N-2411-Series-B

the planks  with

conjunction for

did this.

(A) than

By but

(C) if

(D) None of these.

56. I cried

(B) and

(C) but

(17)

55. No other man ........

(D) None of these.

Q. Nos. 65 & 66 : Fill i

appropriate

the given

............... nobody heard me.

PT.O,



o : Select (C) Paralel

Dircction Q. Nos. 57 to 6
(D) Parallel.

59. (A)\Resistance

97. (A) Accomodation
- (B) Resistenece

the correctly spelt word:

\E) .Acommodstion | (C) Ressistance

\@Lﬁccommodafsion (D) None of these.

(D) None of these. ' 60. (A) Directorate

(B) Diractorate

58. "NA) Parrallel
\(\Q—/ rrate (C) Directorete

(B) Parralell \‘D{ Directiorate.
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6. fert wawd § <t A wen e
27 |
(A) 700

(B) 710

(C) 713

). 230.
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91.

93.

SECTION-I

IR weum sinih\:‘.?sinAmﬁa}
<A [UET g o

(A) 0°
(B) 30°
(C) 45°

(D) 60°.

4 qifger sin™20 + cos?0 W'@"ﬂi
(A) 1 '
1 - |

(C) tan?e

(D) Emﬁiiaﬁéﬁéﬁ

15 ysell et ueh frafia 9gas ®
FEd S0 w1 A9 G B

(A) 24°
B _180°
(C) 15°

(D) 25°.

(24)

N-241 1-Series-B

v : MATHEMATICS

91.  Ifsin 2A = 2 sin A is true then 4

will be :
oo
(B) 30°
(C) 45°

(D) 60°.

92.  Identify sin -29 1 cos?0 isequal to :
(A) 1
B) -1

\(“Q{‘-tanz 0 .

(D) None of these.

The measure of each exterior angle

93.
of a regular Pdlygon of 15 sides is

equal to:
(A) 24°
(B) 180°
(C) 15°

(D) 25°.
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— ) 5 T
(B) 10 T rig:

¢, Ly

a8

(C) IS a.dﬂ'?_"“"&: e 33

(D) & T,

B
(A) 180°

@) 360°

(C) 450°

W), 90°.

96. Wméﬂﬁmaﬁﬁ@

FEET 2

(A) e

(B) uiify

0 =9 |
D) SRR & | ¥ 2

N“241-‘t--E‘:eries-B

T
mﬁﬂ“‘ﬁﬁm

]

-

- (25)

O4.

95.

96.

| A E———

Le fe ;
: age will
16 years from now Ravi's ag

. g o+ % o I
pe four times his present age,
(& ’

What is the present age of Ravi 7
(A) 5 years

(B) 10 years

(C) 18 years

(D) 6 years,

The sum of all angles (i_nterior) of

a quadrildterallis equal to :

() 180°

(B) 360°
(C) 450°
Dy 20°,

The distance around a circular

Region is known as:

(A) Radius

(B) Circumference

(C) Diameter

(D) None of the above,

PEO



97, WRW
P(x)=3x%+2x" + 3x2 +9x+6
1w g
(A) 3

\CBLls

(C) 6
D) 1.

8 IR 5l T % w an soEn ™ | 98,
WSS wem 7 e %) i

BhT:

(A)

(C)

WM W[ orh o

(D)

99. qﬁmw

P(x)=X3+3x2+3x+1

\L_Q—l

(D) 3.

N-2411-Series-B
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97.

99,

The degree of the Polynomial
P(x) = 3x6 4 2x* + 3x2 + 9x + 6
will he

(A) 3

(B) 18-

(C) 6

(D) 1.

A die is thrown once. Then the

probability of “Not a Prime

Number” will be :

(A)
(B)

()]

WK Wl oo N

(D)

The Polynomj al

P(x)=x3+3x2+3x+]_

is divided by = ¢ q then the
Remainder will be

(A) 0
(B) 1
(C) -1
(D) 3.

-
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b
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100. If “a" be the sides of an

cqui\nmrul triangle then its area

(A) *};xnﬂ will be :
Ne ) ot
(B) -:?—ne L
(®)) 332 = *J‘%nz
2 «
) Bmaeh s | (&)} Ea
\(D)\S =a+b+c

101 AR 5 oo R 4 9w wom o

101. A Coin is tossed four times then

& BT ESUIIER] Wﬁ“ﬁq‘?ﬁ; number of Possible outcomes will be :
TALS (A) 8

(®) 16 g o (B) 16

(C) 24 -5-}:‘; (©) 24

(D) 12. k1%

102. ferdll ﬁa’% (-2,-3) M um fag 4l | 102. The distance of the point (-2, -3)

TET B ~ from origin is equal to
(A) 12 (&) 12
\H\Jﬁ B) i3
(©) 13 - () 13
(D) 25. (D) 25.
N-2411-Series-B L2T) , P.T.0.




3 e ) n:
103, - % 1 T wfaerd aual il

A) 1
(B) -1

7

,)Ié—

(D) 0.

104, foelt 9w w oot Yot = W

TSRt 2t 22
)0

(B) 1

© 2

D) erfr

105. 39 + (—24) — (15) =1 ¥ == g

(A) 78

@0 5739

(C) -15
(D) —24.

N-2411-Series-B

(28)

103.

104.

105.

The additive inverse of .
1g ig
equal to :

(A) 1
(B) -1
7

(C) 19

(D) O.

Total number of tangents to a

circleisequalto:
(A) O
(B) 1
(C) 2

(D) Infinite.

The value of 39 + (—24) — (15) is

“equal to :

(A) 78
(B) 0
(C) -15

(D) —24.
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e = | (82 5. 5

‘JU"‘R: ﬁm

5

Pt i L
106. The value of \{ﬁ") w5 J‘, :

N\r’, (24 J-y,-\ cqual to !
(A) 5
®) 5 -
(G &* © &
(D) 0. D) 0.

7. TEEES ¥ A e et §
TefEt T 9= 82

107. Which of the following figure has

no line of Symmetry ?
(&) = r (A) Square
(B) 3rq (B) Rectangle
(C) Taurarg = (C) Scalene Triangle

(D) Circle.

‘WB)\Eﬁn

108. mWﬁmﬁﬁ’r o Zwig 3
%' 135,150, 139, 128, 151, 132, 146
149, 143 3R 141

E@ﬁﬁDatanﬁﬂTWﬁTﬂ?

108. The heights of 10 girls in cm are
135, 150, 139, 128, 151, 132, 146,
149, 143 and 141 what is the
Range of the data ?

(A) 23 cm (A) 23 ecm
(B) 151 cm (B) 151 cm
(C) 128 ecm (C) 128 em
(D) 141.4 cm. \Qléll.zl cm.
N-2411-Series-B (29) P.T.O.
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110.

qﬁ'tm 80

iy g Dl
i g
gym?

v §MIER
‘ qpa @0

R AR G A
(A) 400 T,

(B) 400 .2

\(qumu 1.2

(D) 64 H.2|

R g, e e ox-3y=89

4}:{-—6)7:9 <hl:

(B) %% w1 7 &

111.

= mﬁ'@ﬁﬂﬁ

(C) 40% i
£
7

D) 90%,

N-2411-Series-B

110.

1L

(30)

are kids. What 9 of Visitor g
kids? '

(A) 20%

TB)_60%

(C) 40%

D) 90%.



ggi;{-ﬁ THEHT w0 o
RIS

(A) GO®

(BY 120°

R 30°

(D) 45°,

13 @ﬁﬁma‘é?ﬁaﬁ@w
el = wiEg el

\Q.%m

215_

]
B) %60 1\\235
(©) T35 T

D) T | = T
114. Tl g & =gufe =1 &3va =0

#ﬁﬂﬁﬁﬂﬁﬁﬂ%ﬁtﬁ. &

e Lem?
(B %Eicmz .
Y

188 o
cIm
7

(©

(D) =98 A wig T

N-2411-Series-B

113.

114.

(31)

Two third of i Right angle 15 equal

to

(A) 607
(3) 120°
() 30°

(D) 45°.

An egg cost two and half rupees.

How much will one and halfdozen

cost?

(A) 45
(B) 60
(C) X35

(D) None of these.

Area of Quadrant of a circle with

Radius % cm is equal to:
7 2
(A) —cm

(B) ?cm2

188

(C)

2
CcIn

(D) None of these.

P.T.O.
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4 Me Mmode a4 Meg;,
. AT -
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0 el L, datn ara 7 , M

118, el 6e I and p

& ar,
. st § fu @
? ST R IR Then Meap 4 o

fual y, :
om?
- 17
U\} A
3 B) et
Q) § Y
23
23 2
© = © 3
27 | 27
@ S 0 5

116. Tomdt ABC ﬁf‘ﬂ,\_ﬂ | P = 343 =2 116. In a triangle ABC (= 3/B =
(£A+4B) @@ ®w “C” =R (ZA+2B) then ,C is equz
BITiT: ' ) " to:

(A) 120° ' (A) -120°

\(~B)\60° ' | ; (B) 60°

(C) 45° ' (C) 45°
(D) 90° (D) 90°.
N-2411-Series-B ' (32)




09,36+ 1000 =5 e
g = T Ay
ik “‘T'n

117.
w-0.02936 1
3) 2.936 . 0 Ba
. NN
(€) 0.002936 -
(D) 2936.
8. 6,8 3R 12§ e @ sty
Co £ 118.
T B S w wifsg
Ag= e e
N 120
(B) 240
(©) 117
(D) 9 ¥ i )
9. et fad R w1 feww e | 119
T540 ® 3N THEER Y HR T 20%
H R T A BR B HA Yo
T
(A) T400 ;Yo
(B) 3450 " P
: {B o
€ X108 .
D) w1 ¥ HE =W .
N-2411-Series-B (33)

29.36 + 1000 is equal Lo :

(A) 0.02936
(B) 2.936
(C) 0.002936

(D) 2936.

Write the smallest 3-digit number

which is divided by 6, 8 and 12
completely :

(A) 120
(B) 240

@ 117

(D) None of these.

If the selling price of a toy car is
¥540 and the Shopkeeper snld the

car at 20% profit. What is the cost

price of a car ?
(A) %400
(B) 450
(C) %108

(D) None of these:

PT.O.
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tRyg |
i Sei VS (SST
. fEw *= Wit v (Sei.), GK and EVS (SST)
i# 4 EHT; |
01. H,P. beeame Union territory on :
(AL 1 TR, 1954 1 |
' (A) 1stN0v.,1956
(B) 1 AR,

1966

(B) 1st Nov., 1966

(C) 1 T{W‘ 1954

(C) 1st Nov., 1954
’ 62.

’ D) 1st Nov., 1962.

122. ‘SHE@ W @ ’ '
g FeHl’ TEE ey Who has written the book ‘Kulut
122. 0
foel 2 |

Desh Ki Kahani’ ?

(A) Tlu T=Ew (A) Nora Richards

(B) @@ == et (B) Lal Chand Prarthi

(ON\FER wiwn 968 (C) Sardar Shobha Singh

(D) SRS  Gie (D) Bhagmal Sautha.

.| 123. Highest Statue in India

(A) Harmandir Sahib

(B) &I (B) Hampi
(@) W, i I . (C) Statue of Unity
(D) TAITA (D) Gomateshwara.

N-2411-Series-B (35) P.T.O.



(B) Tex 2
(C) g &
W) W R

126.  =dear 4 fog v 3
I 3ifrard farar o

(A) FErRT
(B) 3R&IE
(C) i

(D) %}QUEH(U

N-2411-Series-B

areft ¥ !I’ii 124,
‘;‘W | qﬁ’" :25.
werfe el | 126,

(36)

First Indiay to

geat Nohfe]
Prize -

(A) Hargoving Khurang
(B) Mother Teresa

(C) Amartya Sep, |,

(D) Rabindranath Tagt}re.

In Pre Independent India which
State launched compulsory

Primary Education ?
(A) Baroda
(B) Arcot

Q) Coorg.
(D) Hyderabad.
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et W Ty .
oni? " ey 7
12°¢.
. 9
B) ITEY ‘Tﬁ"ﬁ T -
© TG g e o
= = i TS, 1897
B T A I e wra Ty
= < 128.
I & TR e wy G T
Eqw;
(A) =g @t =i
(B ==1eg - it
(C) w=eE™ dussi
D) =St gal
120, '1857%ﬁﬁgﬁwﬁﬁ¢mﬁ 129.
forg amet Afea T=Hha @ w=faa 9
(A) 32
\
(B) 34
(C) 36
(D) 38.
(37)

Which among the following had

separate preamble ?

(A) Govt. of India Act, 1919
(B) Indian Council Act, 1909
(C) Indian Council Act, 1904

(D) Indian Council Act, 1892,

Who the

among following

presented the First session of

Indian National Congress ?

'(A) W.C. Banerjee

(B) Dadabhai Naoroji
(C) Badruddin Tyabji

(D) George Yule.

In Context of Revolt .of 1857

Mangal Pandey belonged

which Bengal Native infantry ?

(A) 32

to

(B) 34

(C) 36

(D) 38.

PRO.
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ML, | 130 ;
=i Wi -
> ) ‘eﬂ'-‘ﬁ'ﬂ'iﬂ q H lich of the ﬁ-‘“UWing Capy
: W B W ' 3 h W,
0. W ® T benefitteq 41, most by ., )
q fam wld % yp('r”'“m-,
i Settlemen{. of Bengﬂl 2 .”'
Tany
= (A) Tenants
(A) Wﬁ B
) Zamindars
(B) SHITGR
\-(.LQ o SRR (C) Both Tenantg and Zamindar
O = @ T T (D) None of these,
131, oy & foer oo ﬁqm B 131. When the annexation of Ougqy,
el gl o1 ' took pIace‘ by the doctrine of
; Lapse ?
) Bl
(4) 1851 % (A) 1851 AD.
~(B) 1841 . (B) 1841 AD.
Q) 1855 3. (C) 1855 AD.
D) 1856 3.1 (D) 1856 A.D.
132. TF1 9 9 &N Wk & 909 TRREE | 132, Whe of the following was the first
? Viceroy of India ?
(A) &ife dfewm (A) Lord Bentinck
(B) @i =fiym (B) Lord Canning
\ec)\a“fg’ ferem (C) Lord Lytton
(D) «@iE HzE) (D) Lord Mountbatten.

N-2411-Series-B (38)
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iﬂpﬂ fadaTg W T T

g4l ¥ﬂ7

.'m! : 3 . 36 nf ﬁ%&"ﬂ ”{i
7‘“’1] }13 \th[ wWils rl-ﬂl pame

‘ Viw-.lcnu:mf!n v

(A) Hnl(-ndm' (Thm'adr:_l [Datta

(B) A T w
(B) Nurenrlr;mﬂth Datta
(C) TR TAR T

(C) Narender Kumar Datta

(D) faer=1 R W) (D) Bilender Kumar Datta.

134, T S sies T’ R0 Fa i34. Who is known as ‘Grand Old Man’

S € | of India ?

(A) '@—'3_"“91 ERil (.A) Surendranath Banerjee
(B) MA@ HE e | (B) Gopal Krishna Gokhale
() are TimuR faereh (C) Bal Gangadhar Tilak
(D) <TEISE Al : (D) Dadabhai Naoroji.

135. Fhr=-1 & @ ° zgard d= s | 135 Who was court Physician during

oq7? the reign of Kanishka-I

(A) IT=FH (A) Charak

(B) aqwA (B) Vasumitra

(C) WA (C) Nagarjuna

(D) T7aETg| (D) Ashvaghosh.
N-2411-Series-B (39)
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138. ﬁﬁﬁ@aﬂﬁ‘ﬁﬂﬂﬂﬁﬁa
5 Prefafas § @ S @ FoT T
T 87 ;
@) T @ 9 9 g

_)MW'WWT’ﬁ

(C) A & FRO T A ST

74T &1 Semean ¥ feeenfyd € -

® %
(D) =8 et faeTa @ agmE
3/ T

N-2411-Series-B

136,

137,

138,

- (40)

Which of the following is aleo kn, ;
a8 Sakyamuni or Tathagata? i
(A) Mahavir :
(B) Valmiki
(C) Upali

(D) Buddha.

Which region has practice of
Shifting Cultivation in Indig ?

[P

(A) Southern région

(B) North-Western region

(C) South-Eastern region

(D) North Eastern region. N

Which of the following statement
is not true for Hydropower

geperﬁtidn from river dams ?
(A) It does not pollute water or
air |

(B) Hj;'dr'opower facilities can
have large environmental

i

impact

' (C) Dams (dis-place indigenous

people from their river lifeline

(D) Dams encourage sustairlmblé

growth.




140. memma}m
Trfafen 4 & = 3wt 82
IS X
(B) |TH

(C) =

(D) RS SRATFES|

141. ?«ﬁwna & SR § SF gnfEd
2 -

(A) THEET

(B) #3l

(C) HiEg

(D) SUU ‘H‘Iﬂl

N-2411-Series-B (41)

139.

140.

141.

(C) Members of Parliament

Which of the following is/are

= 9
Greenhouse gas/gases !

(A) Carbon dioxide

(B) Methane
(C) Water vapour

(D) All of the above.

Which of the following 1is
responsible for-_turnix_lg Taj Mahal
yellow 7

(A) Sulphur dioxide

(B) Sulphur

(C) Chlorine

(D) Nitrogen dioxide.

Who are included in'Jurisdiction

of Lokpal?
(A) Prime Ministes

(B) Ministers

1T A efiheabove.

P.T.O,




e . |

‘ . @A) 55"_,_613; Eai ﬁmﬂ
(B) 53,911 =i fepsft.
L (C) 55,673 ot fershh,

' (D) 56,000 =7 faH,

.' N“Z“II“SGHGSB |

ok Eﬁh ﬁ Saﬁq m i a@ aﬁ

B 3 W i dree

=i | 144,

(42)

143;

e (A) 55,619 sq. km

Total Geographica] area

(B) 53,911 sq. km
(C) 55,673 5q.km .

(D) 56;000 sq. km




146, R T A T O % e

147. & 9 & qeon & <A

_o411-Series-B

145.

146.

147.

aight Gravity

World's Highest str

damis:

(A) pPandoh

(B) Pong
(C) Bhakra

(D) Nathpa.

Khir Ganga hot water spring 18

located in which.District 2
(A) Kullu

(B) Kinnaur

(C) Chamba

(D) Kangra.

Himachal’s First (R.E.C) College is

located in which District ?
(A) Mandi

(B) Bilaspur

(C) Hamirpur

(D) Una.

P.T.O.




" i 1918
s e few W o
8 2011 ®) ST W TR
v ras R ?
wieen won W fEeR o
A 76%
Q 80%
™NQ 66.3%
(D) 91.2%. _ |
. | <l icatcoll BT - | f
e, wrg ¥ Mew ohl Ul 49, The Qldest lv‘iatural‘Golfcc)uTS i
‘qu w8 fed 27 - India 1s locate‘d at f
(B) -TerRwEy B) Naldehypq
5 |
(©C) ey (©) Andretts |
(D?\ SR (D) Khajjiar
150. 1857 % EQiGEaite) ek T EEER:T 150 In order tq- escape the wrath of
Tou sy er Ren 9w w5 revolutlonanes in  Shimla i
RO 2 1857 the Bntlshers fled from
; Shlmla and took shelter at:
(A) =®E
: B el (A) Koti ,_
\(‘B)\ﬁﬁﬁfr _ (B) Theog
C) qum (C) Ghund
(D) Smm (D) Junga.
N-2411-Series-B (44) '



